Puzzles

How far can a dog run into a forest?

How much earth is there in a hole 1ft×1ft×1ft?

How many times can you subtract the number 1 from 25?

A farmer has 3 5/8 haystacks in one corner of the field and 4 1/3 haystacks in another corner.  If the haystacks are put all together, how many haystacks will there be?

A boat is moored in the harbour and over its side hangs a rope ladder.  The rungs of the ladder are one foot apart and the tide rises at a rate of 8 inches per hour.  At the end of six hours, how many of the rungs will be covered?

In a street with houses numbered 1 to 100 how many of each digit would I need, e.g. how many 1s, how many 2s etc..

The number of eggs in a basket doubles every minute.  If the basket if full after exactly 1 hour, when was it half full?

If 3 cats kill 3 rats in 3 minutes, how long will 100 cats take to kill 100 rats?

40 minutes ago it was twice as many minutes past 10 as it is now minutes to 11.  What time (to the nearest min.) is it now?

How can a thousand £1 notes be stored in 10 sealed envelopes so that any sum of money in pounds from £1 to £1000 inclusive can be handed over without opening a single envelope?

What remainders do you get when prime numbers greater than 6 are divided by 6?  Explain.

My watch is 10 mins. slow and I think it is 5 mins. fast.  Your watch is 5 mins. fast and you think it is 10 mins. slow.  We plan to catch a train that leaves at 4 o’clock.  Who gets there first?

Coffee is 97% caffeine free.  How many cups would you have to drink to get the amount in a normal cup?

I have 2 mins. in which to catch a train & 2 miles to go.  I go at 30mph for the first mile.  What speed must I travel over the 2nd mile to catch the train?

Find all possible sets of non-zero integers such that: x×y×z  =  x+y+z.  Explain.

I drive to work each morning, always leaving at the same time.  When I drive at an average speed of 30 km/h I arrive 6 mins. early, but when I drive at an average speed of 20km/h I arrive 6 mins. late.  How far do I drive to work?  What is my average speed when I arrive precisely on time?  Explain.

A right-angled triangle has 1 of its sides (not the hypotenuse) 5cm long.  The circle that can be drawn inside the triangle, touching all 3 sides has radius 2cm. Without drawing the problem to scale, find the lengths of the other 2 sides of the triangle.
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